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3rd Month, 4th Week, 6th Day Monthly Test 

Q.1. Choose the correct options.   (1 × 10 = 10)  
(i) Proportion means: 
(a) equality of two ratios  (b) equality of quantities 
(c) inequality of two ratios  (d) inequality of quantities 

(ii) A relation in which increases one quantity causes proportional increases
in the other quantity is called:


(a) compound proportion  (b) ratio 
(c) inverse proportion  (d) direct proportion 

(iii) The comparison of the quantities of same kind is called:


(a) proportion  (b) ratio 
(c) inverse proportion  (d) direct proportion 

(iv) The relation between two or more proportions is called:


(a) compound proportion  (b) direct proportion 

(c) proportion  (d) inverse proportion 
(v) A person who buys life insurance from an insurance company is called:


(a) insured  (b) insurer  (c) lesser  (d) beneficiary 

(vi) To reduce the price of an article from its market price is called:


(a) discount  (b) profit  (c) period  (d) insurance 

(vii)  The time for which a particular amount is invested in business is known as:


(a) profit  (b) markup rate  (c) period  (d)

principal amount



(vii)A business in which two or more persons run the business and they are
responsible for the profit and loss is called the:


(a) profit  (b) partnership  (c) markup  (d)

principal amount


(viii)The cost price of a toy car is Rs. 100. If its is sold at 10% discount then
the selling price of the toy car:

 10  100 
(a) Rs. 90 (b) Rs. 110 (c) Rs. 80 (d) Rs. 120

(ix) When a person dies, then the assets left by him are called:


(a) period  (b)

principal amount

 (c) inheritance  (d) discount 

 Answer the following questions: (2 × 5 = 10)  
1. Which term of the arithmetic sequence 2, 5, 8, ..... is 62?





 2, 5, 8, ..... 62

2. If 15 men take 85 days to build a wall, how long would a take for 10

men? Also draw its graph.

 10  85  15 
3. Convert Rs. 50,000 into Canadian Dollar. (1 Canadian Dollar = Rs. (142.50)

 142.50  1  50,000

4.  Identify te pattern and complete the sequence. 
1. 77, 66, 55, ___, 33, 22, ___.                2. 50, 100, 150, ___, 250,  ___, 350___.

5. Mrs. Razia paid her driver Rs. 2500 for 5 days. What amount will she

pay him for 10 days? Also draw its grap.

 2500  5 
Q. 3.Abdullah's exercise trainer suggests jogging for 10 minutes each day for

the first week. After each week, he suggests to increase that time by 5 minutes

per day. At 6th week how many minutes will he jog? (5)

 5  10 
    . 

1 1


